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l. What is the range of integers which can be stored in a four-byte
word? Assumed the leftmost bit is reserved for sign. (10 43)

2. ERERE Modem BYFERESE? (10 #3)

3. ¥hat are nain memory, secondary memory and cache memory? And their
relationship? (10 43)

4. Can you suggest any categories to evaluate an Operating System?
(Namely, what kinds of characteristics should a good Operating
System have.) (10 4)

5. A58 Array 7 {58 Linked list? (FEE2MFERRE) - & — H RS
7 (10 %)

b. FELLEEFELZ topology of network (i.e., Star topology, Ring
Topology, Bus Topology and Tree Topology PUfii) - 3 Bridge I
Gateway BHIX link two networks, S Bridge FI Gateway {31FHZEF
WHEETE ? (10 4)

7. FHEBEERH Binary tree 2O « AL/ MRRERREN&RTAR -
st BHEN{A{E Binary tree L#U{T Search(x) iE—procedure = Search(x)
ig—procedure ZEDFEFGHRAMIT ¢ (15 43)

Search(x): find the key x in the data structure, or determine
that x is not there.

8. Your have been hired by the Department of Transportation to
computerize a traffic control at a 4-way interseclion. The rules
for this intersection are:

a. Each car arriving at the intersection will call a procedure
Enter {(direction), where direction is a parameter whose value
is one of the defined constants: NORTH, SOUTH, EAST, or WEST.
This procedure returns when it is safe to go through the
intersection. (A% : Drireciion specifies where the car is
fron)

b, After leaving the intersection, the car must call procedure
fleave (direction), where directfon is the same above.

c. Cars only proceed straight through the intersection. There are
never any turns. (JTEIEIFRHET  AEGH - )

d. I[f a car is waiting from the north, and a car is also waiting
from the south, they should both proceed through the
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intersection together. If a car is waiting from the east, and
a car is also waiting from the west, they should both proceed
through the intersection together. (FFEMER Fm2 —H « [ [GIF
FEE+FEO )

e. If cars are waiting in bath the north-scuth and east-west
directions, they must alternate (ZFBISEPEE EFILRKHTERIET
FEO-) - - BT Hcontrol ME—&  |{EFETHEZEFERTZ
R+ REO1#% - Falternate o

=%l Pseudo code (B Basic, FORTRAN, Pascal, C - IOR{R/IFSELL
WAEE () BELitz Enter() ¥ Leave() —{fl procedures - You can
assume that vou are supplied with (already written) a procedure
called DriveThroughThelntersection(). You have no idea how long
this procedure takes to execute. ({fEf @ {R/AFT B EEREREL
procedures * {HFEMEERZ Logic - Sefeit - RS EH . ) (25
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